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1 2000 MK UM — 7 v 7 2T X B KR X SR E 4 800
2 2000 KM F v 7 — KoyRBE ST ik 2 400
3 2008  AMF v TR T — BREEAER T % 7 1400
4 2000 AKMF v 7 — 5B 0Hr TR E 2 400
5—1 2000 HMEOHHE — FEEROCEREREHE — FH1E : RA—R %2 —ik 5 1000
7 2000 AKX WK — &R R T vk 5 1000
8 2000 G OHGHE — FRARE IR & 3B ik 3 600
9 2000 A UMK — #E75 A1 R 75 i 3 600
10 2000 MUK OHRHE — f5i 2 K o ik B ik 1 400
11 2000 AT — ¥y FoSHEMEERBRTE 2 400
12 2016 K — v A4 R GIE — R vEEE 3 600
12-508% 2016 ~vEY 4 XEREBAEEC A RA 1 400
13 2000  HEM OHGHE — 4 R % — K.B.B.E 2 400
14 2000 KM UK — KGR EEER T i — A — I A4 Xk 2 400
15—1 2000 #&— H—rR EEHE — FBUEE : 7 — A RS PEE 2 400
15—2 2000 #C— 7 —nalkBT5iE — 8280« o — i ERENE L 3 600
15—=3 2000 #K — H—riRkBRE — 3 - — A AEIEE 2 400
18—1 2007 #EKOHHE — PR &l & BB — B 150 « Zihy 1 5 R B ik 3 600
18—2 2000 HEK O — PNERAE G50 S BB TR — H280 : 4 v 2 —F ARV F TR Ek 4 800
19—-1 2000 Wik — T2 Abe/Eoid < HEmx RERG % — B 1ER « B mEHIE % 2 400
19-2 2000 Wt — T A beEoid R & R E — H280 - SE T E T ik 5 1000
21 2000  HCM UK — SB (B akBR ik 5 1000
24 2000 HEK O — 277 © 7 Rl BT 2 — AR X 2 400
26 2000 ST — oK ER T i 4 800
27 2000 %S OSHRHE — Kb Sk BR  i2: 3 600
28 2000 AR OHRAK — ML IC X 2 iR alBR gy ik 5 1000
29 2000 BEAR—AHH LA — PHEEfE S S B 5E — ava 7k 3 600
32—1 2000 K — WoKERERTIE — 1 B &k 3 600
32—2 2000 K — WRoKERER TR — B2 ¢ TR 2 400
34 2000 MK — o S HBRITIE 3 600
35 2000 A UMK — e e BB ik 4 800
36 2000 KM OHRHK — SRR RS SBR T i — ZA T R 1k 2 400
37 2000 KM UK — BEUR O & 3Bk i 3 600
38 2000 MK OHRHE — BT v A U MK TR H W E o R 1 400
39 2000 K — A v BRI E 6 1200
40 2000 HKLOWHHE — mEFIck 2 b IRBHE — H—L —ik 3 600
41 2000 MR OHGHE — o miEREB S %k — F v M E 2 400
42 2000 AP SN T RSN T — RAACHIHIR ST i — TR 7 a~ b 277 7504 5 1000
43 2000 K, B KR UL 7 — BRI EIC X B % 1 5 MR ER T 6 1200
45 2000  HrREAFAK — ERIERASIE IH B AR 7 i 3 600
46 2000 S OHRHE — FIRIA v F 2B BR S ik — K&N A v F ik 2 400
47 2000 MEKROWH —BILIEDa—F 4 v 74 v B—R o i 9 1800
48 2000  #E — KERTEAZEIC X 2 HFLE S Am 5Bk T % 4 800
49—1 2000 HK — RmpHRABR ik — 1 « 777 AEME 3 600
49—2 2000 #E— RKlEpHER Tk — 280« fEREE 4 800
49—3 2000 fK — RmpHABR ik — 3 - K < L 2 400
50 2000 KM OSHRAE — s % oL 1 400
51 2000 KK UHRGHK — IR IERRER /7 ik — 7' ) &R b =3k 6 1200
55 2000 oSV T — 3 HT FEURE O BRI R I O BT 2 400
56 2000 ST — ST B o K4y iR ER i 2 400
57 2000 TR — EOKEE S RERT R 2 400
58 2000 oSV — BOKAIIE S ARER T i 2 400
59 2000 ST — 1%KEE(LF b Y v LR[S B AT R 3 600
60 2000 ST — ko w — RGBT E 2 400
61 2000 A TH — U F = v EFRRER 2 400
62 2000 AT — T —F iR IRER A i 2 400
63 2000 ST — Tra—i - ¥ VAR R 2 400
64 2000 SATH — =V b v ERRREBTE 4 800
65 2000 AT — Fukro—2EERRES 3 600
66 2000 TP — X b F o AKEHERREB T IE 4 800
67 2000 AR B OSHHE — Wi R Ak BR T s 3 600
68 2000  HEKR UK — 13 - K PEERBR /5 i 2 400
69 2003 MK UP AT — v & — P EERERTTE 5 1000
70 2003 K — v X —AREHAEE B T 2 400
71 2007 MK OHHK — BIIRFRE 0 3Bk i — &l BRI i Bk 4 800
72 2008 KM UHRGIK — 75 FE BRI IR EE R ik CPATE 0 4 800
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